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[REE (5 HLeetCode] 441. Arranging Coins

Description:

You have a total of n_coins that you want to form in a staircase shape, where every k -th row

must have exactly k coins.

Given n, find the total number of full staircase rows that can be formed.

n is a non-negative integer and fits within the range of a 32-bit signed integer.

Example 1:
n=>5

The coins can form the following rows:
ol

jefg e}
jefg e}

Because the 3rd row is incomplete, we return 2.

Example 2:
n=38

The coins can form the following rows:
ot

jogge]
ogoo
jofie}

Because the 4th row is incomplete, we return 3.

B ARERHADIRET, REKMEELH.

o Bi%—: BWHRHERAZEN, NE—1THR, —1T—TRIMndiEZE, MRS RIRATEDIREH

T—THREREDE T, REIZERHTEEIE.

o BIR_: BEEMARE, BERERKRATIUKE. JIHARN = (1 +x) * x/ 2, B—XG5E

FKIRARKETLUEE] x = (-1 + sqrt(8 * n + 1)) / 2, ARSI

RRSEHRANTEL.

C++X15 (Bs—)

class Solution {
public:
int arrangeCoins(int n) {
intcur=1,rem=n-1;
while (rem >= cur + 1) {
++cur;
rem -= cur;
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}

returnn==07?0:cur;
}
|3

i={TATE: 12ms

ZTRTE: 8.3M

C++{rE (BEED)

class Solution {
public:
int arrangeCoins(int n) {
return (int)((-1 + sqrt(1 + 8 * (long)n)) / 2);
}
|3
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